20154 TV A M) —LERMR K -S=Fa7#E
IE4E| HIE| ' yry| HIGEKA HimXE |5 Xz AL | MER IV | BET IV E|P
1 | 62267 |FiE F|E |A—T4R @ [CrvsSvtILTUT| 2030 2030 | 3R
2 | 24334 |FH & 249 Sl A ==P 21.48 2148 | B}
3 | 10336 |8 %F  |Pink Dobphin | @ |vzvbsuks—Tryy| 2217 2217 | B
4 | 39295 |k IFs INTF & /33y 22.52 2252 | B%
5 | 58 | 345 |=H ZEA INKBR@4AY) | S ([ DrviSytILTUT| 2274 22.74 R
6 | 56 | 296 |tkEk IFs= NN @ 8= voSvtTYT7| 2279 2279 |3k
7 | 12| 271 |HH #& T4/ 2 |MMF—FJL 23.09 23.09 R
8 [ 42313 |18 18 LI @ | FT—FJL 23.27 23.27 #
9 | 23| 288 |BE ¥ IN)— Sl A ==D 23.31 23.31 #
10 | 43 | 316 |5t & #ZE GRACE(J'LAA)| & [4vyyyyaavh—awz1n| 23.37 2337 | #&
11| 40 | 335 |FH &F AU ? |1Z3vHR 2347 23.47 30
12 [ 25 [ 339 |FFiB HF G W) 2 |vxybSURry—FRvs| 2053 | 3 23.53 BE
13 | 6 | 287 |@+t FIF 137 R |PrviSvtTUT| 23.72 23.72 29
14 | 13 | 323 |3K #ith NI @ M FT—FJL 24.47 24.47 28
15 | 21 | 343 |i&# & A—1)— @ |S=FaTF7T—FIL | 2456 24.56 27
16 | 48 | 337 |FiB HF |X¥EGTD) 2 |ozubsvRry—Frys| 24.64 24.64 26
17 | 53 | 283 | K% HEF |EXUIY @ [CrvsSutITUT| 2501 25.01 25
18 | 46 | 286 | KF1H M= |[N7— @ [rMFT—FJL 25.06 25.06 24
19 | 45 | 307 |#iK RF Jvx— @ [CrvsSvtILTYT| 2522 25.22 23
20 | 35 | 297 |/pk BHEE |¥vXI TR D |SrysSvtLTY7| 2311 | 3 26.11 22
21 70 | 291 [KF ##  |9T 2 |vxubSURL—TRvs| 26.38 26.38 21
22 | 22 | 302 [;EK =F IILT @ [CyvsSvtITYT| 2340 | 3 26.40 20
23 | 11 | 289 |#FH =0 HoKA QD |C¥yoSvEILTIT| 26.72 26.72 19
24 | 15 | 353 (&M HB#F |wUA @ [vrurSuRy—TRys| 26.82 26.82 18
25 | 14 | 294 [#&fE =  |Q#*a)) & |3y 28.21 28.21 17
26 | 19 | 354 |&5@H &F A v I |EX 28.56 28.56 16
27| 4 [ 317 [£& =F Evk PR EVPPS 2272 | 6 28.72 15
28 | 64 | 300 [{ERK ZEfE |7/)L/\bAX L EFS 28.95 28.95 14
29 | 18 | 320 [Fig #sk /Il R |PrvsSvtITUT| 29.37 29.37 13
30 | 34 | 351 [1LUiR %0F FEHN) Sl A ==P 29.86 29.86 12
31| 41| 268 |All #BF AH 3 |FI7 30.61 30.61 11
32 | 16 | 305 [i5/K ¥ yay¥x— I |ZYIR 31.32 31.32 10
33 | 51 | 266 |GI&F ZHREE 74 2 [CxvsSytiTU7| 31.71 31.71 BE
34 | 57 | 319 [Fig #E A =P @ [CrvsSvtLTUT| 3278 32.78 9
35 | 27 | 298 [{E4AK EfE |Uaw I [HEX 33.21 33.21 8
36 | 32 | 301 [{Efk ”Z= fit(ty) 2 |ozubsvry—Frys| 33.26 33.26 7
37| 8 | 314 [#H {&#hF |CONAN@IY) | & |947—T+voRFY7| 33.61 33.61 6
38 | 7 | 284 [KF #HF A5 2 [C¥ysSytiTI7| 33.79 33.79 5
39 | 71| 338 |FiB #F MinimoniS=%2) | @ | xyhSURy—FFvsy| 34.05 34.05 4
40 | 68 | 280 [ KE {2 oYz ? |91hya1-%'-Av7'0-4| 3143 | 3 34.43 3




2015F T VAN ) —LBERMR KRS -S=Fa7#E

IE6L| BBt yry| HBEKA HimXE |5 Xz AL | MER IV | BETIVE
41 | 5 [ 333 |FFH £K |[/SLT4— & /33y 2896 | 6 34.96
42 | 44 | 349 |FT Hsh  |FzO A |18UToF L4 UR| 36.09 36.09
43 | 66 | 285 | X% #hF |ARH— @ [CrvsSvtILTYT| 3722 37.22
44 | 26 | 279 | KE B2 E a ? |9hyaa-¥-Av70-4| 3237 | 3| 3 38.37
45 | 9 [ 270 |5% A beat(t’—F) 2 [rM=oFzRE—FYF7| 4185 41.85
46 | 54 | 342 e K FEZE |/\tY 2 [ZvHR 43.14 43.14
47 | 33 | 346 |=H E£f |[F=F0@VyD | 2 |Prvs5vtiLTUT| 45.33 45.33
48 | 60 | 277 =@k EUF (U 2 |E=FaT7E IYy—| 46.02 46.02
49 | 52 | 293 |k = Pt 2 [9IAMNIUERTIARTYT | 52.19 52.19
50 | 37 | 326 (B E&F |bZ PR EVPPS 52.86 52.86
51 | 59 | 344 [[BH RicF |VLA @ |S=FaF7F—FJL | 5393 53.93
52 | 50 | 350 [IUF FIgh  |FIv/— @ [CrvsSvtILTUT| 66.92 66.92
53 | 36 | 290 [JII#F A F¥ 2 |MMF—FJL 113.22 113.22
54 | 28 | 325 [{—HE #EXR |/ v 2 [y oSvtILTIT i
55 | 3 | 269 [FH BEiF 24 2 |1SvyHR 105.71 SE R
56 | 20 | 274 |;B¥ [5F 1R 2 |[MRUFIRE—TUT 4%
57 | 30 | 275 [BEA FEF [EfHM)Y) 2 —R— LT
58 | 61 | 322 |fh)Il B= 27I)L 2 |1EvOR LAY
59 | 2 | 273 [H%¥F E J4IL7 @ |7 T2 RE— 9%y =) 44 LF——
60 | 55 | 272 |¥0 = oy 2 [LUFIIEYT 44 LA——
61| 65| 276 [EX FAN B(R)Y) 2 P—R— 44 Lt—n—
62 | 69 | 324 3K BHF |Lavll 2 |MMF—FJL 44 LA——
63 | 1 | 328 [0 E#t 7737 27)= | & |M4T—FJL BB
64 | 17 [ 341 |[% 5 & ') |y ITvEILTIT @8
65 | 29 | 318 [+& ZEF 1)/\— 2 [I8=vSytILTUT T&EIB
66 | 31 | 282 (X% B Latte(77) R 1Sy i5vtEILTIT & @
67 | 38 | 265 |GI&F ZHREm <40 @ |y ISvEILTIT @B
68 | 47 | 327 |[R B4 EX0)) S |CrvISvtILTIT BB
69 | 49 | 332 |FE #EiE A—k)— 2 |MMF—FJL BB
70 | 63 | 331 |FEE # DAL TAT> 2 |[MMF—FJL AR




